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1 WS - Curve Sketching Un it 2 
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� Je���� ________________________________________________ X) L.u. f IONS ___________ ,
1) For each function, determine the coordinates of the local extrema. Classify each point as a local max or min.

a) y = 2x - 3x2 
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2) For each function, determine the coordinates of any points of inflection.

a) f(x) = 2x3 - 4x
2

f\-x.; =- G� 1.. - <o,x 

r'\-1<1 -=- ,�� - <3 

0 -:, 11.'K- 'i 

1� -
3 

t(\) � - �)_ 
d-t

Po-Ss�\€- ?01: \ s (� 1-;�) 

0 1 
f'' (�) - -+ 

ccl\,a•""' C<1/\• up 
Fc�J A V ' 

b) f(x) = 3x5 - Sx
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Answers: 

l)a) max: G,½) b) no local extrema; (-1,2) is an inflection point NOT a max or min

2 32
2)a) (-,--) b) (-2, 624), (2,176), and (1,78)

3 27 

3)a) x-int: (0,0) and (8,0); y-int: (0,0); local max: none; local min:

(6, -432); POI: (0,0) and (4, -256); increasing: x > 6; decreasing: x < 0
and O < x < 6; concave up: x < 0 and x > 4; concave down: 0 < x < 4 

b) x-int: (:---1,0), (0.215,0), and (-1.549,0); y-int: (0, -1); local max:
(-1.3, 0.34); local min: (-0.26, -1.36); POI: (-0.78,-0.51);
increasing: x < -1.3 and x > -0.26; decreasing: -1.3 < x < -0.26;
concave up: x > -0.78; concave down: x < -0.78

c) x-int: (-3,0), (-2,0), (2,0) and (3,0); y-int: (0,72); local max: (0,72);
local min: (-2.55, -12.5) and (2.55, -12.5); POI: (-1.47,25.16) and
(1.47,25.16); increasing: -2.55 < x < 0 and x > 2.55;
decreasing: x < -2.55, and 0 < x < 2.55; concave up: x < -1.47 and

x > 1.47; concave down: -1.47 < x < 1.47

d) VA: x = 0; HA: y = 1; x-int: (-3.24,0), and (1.24,0); y-int: none; local

max: (4,1.25); local min: none; POI: (6,1.22); increasing: 0 < x < 4 and;

decreasing: x < 0, and x > 4; concave up: x > 6; concave down: x < 0

and O < x < 6 
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4) A rectangular piece of paper with perimeter 100 cm is to be rolled to form a cylindrical tube. Find the
dimensions of the paper that will produce a tube with maximum volume. What is the max volume?
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5} Find the area of the largest rectangle that can 'be inscribed between the x-axis and the graph defined by
y = 9 - x2 . : (3 J�x1��') 
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6} For an outdoor concert, a ticket price of $30 typically attracts 5000 people. For each $1 increase in the
ticket price, 100 fewer people will attend. The revenue, R, is the product of the number of people attending
and the price per ticket. Let x equal the number of $1 increases in price. Find the ticket price that maximizes
the revenue. What is the max revenue?
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